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QUESTION 1

A thin pool consists of 8 data devices. Four devices are almost full and 4 are almost unused.
Which command will move thin extents from the full to the unused?

A. Rebalance

B. Rescan

C. Reclaim

D. Re-allocate

Correct Answer: A

QUESTION 2

The necessary infrastructure is in place for application restart at a remote site. Four RDF links have been configured
between the two Symmetrix units.

What is the primary impact to the customer of a single-hop SRDF/AR solution compared to SRDF/S?
A. Increased RPO with SRDF/AR

B. Increased RTO with SRDF/S

C. Increased number of links with SRDF/AR

D. Decreased network bandwidth is needed with SRDF/S

Correct Answer: A

QUESTION 3

A Symmetrix storage administrator wants to use Virtual LUN Migration DP to migrate data to configured space. How are
both the source and target volumes specified when using SYMCLI?

A. Device files

B. Device groups

C. Physical disk groups
D. Storage groups

Correct Answer: A
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QUESTION 4

A customer wants to create 4 copies of a LUN per day and they want to implement clones. They establish each clone
session at fixed intervals of 6 hours, starting at midnight, then at 6AM, then at noon and finally at 6PM.

They are concerned that it will take too long from creating each session to the point where they can actually start using
the data on the clone.

What should be done so the clones can be used as quickly as possible?
A. The clone is immediately usable after activating the session

B. The "Recreate” option should be used instead of the "create" option
C. The "CopyOnAccess" option should be added to the command

D. The "Precopy" option should be added to the command

Correct Answer: A

QUESTION 5

What is the maximum number of tiers that can be included in a FAST VP policy on a Symmetrix that is configured with
Federated Tiered Storage (FTS)?

A.2
B.3
C.4
D.5

Correct Answer: C
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